| ' BACHELOR’S DEGREE PROGRAMME
" +- . TermEnd Examination
L s s . ~ dune, 2008
B N FOUNDATION COURSE IN SCIENCE
R AND TECHNOLOGY

-

' Time 1 3 hours ; - 'Max-tmum Marks : 100
‘ (Warghtage 70%)

. Ndu Your answers shoyld be br!ef and’ m #he poiut
N TR ﬂﬁmrever possible support your unswert with facts
? %" .. and figures. :

SECTION A

. Ne#e: Answer all questions.

"+ Al'&} Fllin the blanks . 5

6 AIDS is caused by

{ii) Sﬁré that send out pulses of light and radic
waves in regular bursts are called' - .
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Pho;cochemical smogq Is produced by the reaction -
of hydrocarbons. and ' __ in the
presence of sunfight. '

diécovered circdaﬁdh'of blood in the
human body. '

Functional unit of "thelner_ulczus sysfem is called

State’ if the following statements are true (T} or

@)

s

(i)

(V)

Y]

~ {alse (F) :

Method of science is based on the speculations
prevalent in the society. T

In Iron Age, the human existence revolved oniy
around food-gathering and hunting.

Computer  software s a -set of
inshuctibns/px‘bgrammes which - nuns ~ the
computer hardware.

Man occupies moré than one trophic level.

Scurvy is caused by deficiency of calcium.



7 ¢} Give short answers (in not more than 50 words each) .
for the following : 7 10

() Name any two Indian scientists of the colonial
era and also their contributions. '

(i) Write two applications of LASER.
(i} What is an artificial satellite ?

(ivy Write two evidences favourir_lg the 'Big-Bang
Theory of the Qrigin of the Universé.

(v List two factors that could have led to the end
of Stone Age. '
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SECTION B

Note: Answer any eight qicestioris. Limit your answer to
100 words for each question. '

'B1. In what way have the followihg:aﬁected human somety ?
@) Television | |
{i) Genetic Engineering

" B2. Enlist the various operations in the method of science.
Describe them with the help of a suitable example. .

B3. Explain any two features of the Indian society that helped
the growth of science and technology in the Gupta period.

B4. How is the age of fossils determined ?

- 'B5. What is meant by a balanced diet ? Suggest the composition
of a balanced diet needed by an adult working mam.

B6. Explain the concept of cosmic distapoe. List four features
' that distinguish a radio telescope from the optical telescope.

B7. Describe Pasteur’s experiment that disproved the theory of
- spontaneous generation. ' '

- B8. What is cognitive learning ? Explain the various aspects of .
coanitive learning. -
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B9 “The cost of raw material and labour in our country are .

cheaper as compared to other countries, yet the cost of

finished product is much higher.” Justify the statement.. "~ 5 -

'_ 'mo

Bll

FST

What is pollution ?. With the help of an example -explam'

how a pollutant gets accumulated at each tl‘O].‘)th level. 5

Da you think that stability leads to social stagnation and’
eventually to stagnation in science ? Justlfy your answer
with suitable examples. S , 5

5 . PTO.



SECTION C

Note : - Answer any four questions: Limit your answer upto
250 words for each question.

C1. Would you agree with the statement that ‘Prevention is -

"better than cure’ ? What preventive measures are sugdested
for public health ?

C2 With suitable examples, explain how the science of
. ergonomlcs has improved the life of hurnans.

. C3. What is technology transfer ? How has it helped India
advance its technological status ? '

C4. Enumerate various scientific and techmcal achlevements of

the Bronze Age.

C5. Giving two examples, explain how recycling of wastes -

. jmpraves resource utilization and reduces pollution.

C6. A park of your locality is‘an ecosystem. Describe the

interactions between various components of this ecosystem.
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